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PRACTICE Quiz 1.3 Solving Equations Variable on both Sides

Name___________________________________
©r y2Z0\2V1J TKyu[t_a_ NSCogfFt[woaarseV KLHLTCx.J e OAqlSlt _ryiogHhMtUsk araeFsQeLruvGecda.

Solve each equation.  Must show all work.

1)  6n - 2n = -2n - 12 2)  4 - 8m = 1 - 8m + 1

3)  -5 - 5b = b - 5 4)  -6 - 8x = -6(1 + 4x)

5)  3(1 - 6k) = -8k - 37 6)  -4(3 - 3b) = 6b - 24

7)  5(4n + 8) = -2(-7n - 2) 8)  3(6x - 8) = 8(x + 2)
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Name___________________________________
©Q s2a0z2m1l KKguftXaG CSboVfYt]wnaSrsez kL`LlCb.g s JA`lnlI urHiVgNhXttsg ertewsceprhvZezdL.

Solve each equation.  Must show all work.

1)  6n - 2n = -2n - 12

{-2}

2)  4 - 8m = 1 - 8m + 1

No solution.

3)  -5 - 5b = b - 5

{0}

4)  -6 - 8x = -6(1 + 4x)

{0}

5)  3(1 - 6k) = -8k - 37

{4}

6)  -4(3 - 3b) = 6b - 24

{-2}

7)  5(4n + 8) = -2(-7n - 2)

{-6}

8)  3(6x - 8) = 8(x + 2)

{4}


